KANSAS CORPORATION COMMISSION RIGINAL

WELL COMPLETION FORM

Form ACO-1 September 1999 Form Must Be Typed

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 3882	API No. 15 - 15-159-22519-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: RICE
Address: 1670 BROADWAY, SUITE 3300	S/2 SW Sec36 _ Twp20 _ S. R10 _ □ East ⊠ West
City/State/Zip: DENVER, CO 80202-4838	feet from SOUTH Line of Section
Purchaser:	feet from WEST Line of Section
Operator Contact Person: TOM FERTAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 831-4673 AR 2 7 2007	(circle one) NE SE NW (SW)
Contractor: Name: SUMMIT DRILLING	Lease Name: MORGAN Well #: 1-36
License:30141	Field Name: WILDCAT
Wellsite Geologist: JUSTIN CARTER	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1704' Kelly Bushing: 1714'
X New Well Re-Entry Workover	Total Depth: 3402' Plug Back Total Depth:
Oil SWD SIOW Temp Abd.	Amount of Surface Pipe Set and Cemented at 305 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☒ No
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PA NH 10 FOR
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No.	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License No.:
12/1/2006 12/9/2006 12/9/2006	Quarter Sec Twp S. R
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	County: Docket No.:
	-
INSTRUCTIONS: An original and two copies of this information shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover Information on side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Sub	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
de Mat	KCC Office Use ONLY
Signature: Nomas 87914	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 3/27/2007	If Denied, Yes 🗌 Date:
Subscribed and sworn to before me this 27 TH day of MARCH	, Wireline Log Received
2007	Geologist Report Received
Notary Public: MUSTO DE LON 1	107 NOV
	RECEIVED
Date Commission Expires:	MAR 2 8 2007
W.c.	SELVA P
My Con	KCC WICHITA

MAY 9, 2000

Operator Name: S	AMUEL GA	RY JR &	ASSO	CIATES, IN	IC.		_ Lease Name:	MO	RGAN		Well #:	1-36
Sec. <u>36</u> T	wp20	S. R.	10	🗆 E	ast 🛭 We	est	County:	RIC	E			
INSTRUCTIONS: tool open and closed and flow rates if gas Attach final geologis	d, flowing an	d shut-in p est, along	oressures	s, whether s	shut-in pres	sure rea	ched static level,	hydros	tatic pressu	res, bottom hole ten	perature, flui	d recovery,
Drill Stem Tests Tak (Attach Addition			Yes	⊠ <i>1</i>	lo		Log	Form	ation (Top),	Depth and Datum		☐ Sample
Sample Sent to Geo	Yes		lo	Name TOPEKA				To 25	p 17'	Datum -803		
Cores Taken			Yes	⊠ N	lo	DOU	BNER IGLAS			28	05' 38'	-1091' -1124'
Electric Log Run (Submit Copy)		⊠	Yes		lo	LAN: ARB	LIME SING UCKLE		KC	29	35' 64' 20'	-1221' -1250' -1606'
List All E. Logs Run:				POROSITY		TD			1AR 27	2007	02'	
	MICRO	LOG							NFIDE	MIN		
				SING REC		_		sed				
	Size Hole	Size C		Weight	T	or, surfa	ce, intermediate	, produc	# Sacks	1		
Purpose of string	Drilled	Set (in		Lbs./Ft.	Setting Depth		Type of Cement		Used	Type ar	nd Percent Ad	ditives
SURFACE	12-1/4"	8-5/	/8"	28	305'	60/40 POZ			175	2% GEL & 3% CC		
				-								
					DITIONAL	OFMEN	TING/SQUEEZE	DE00	DD.			
Γ_		De	pth	T AD					· · · · · · · · · · · · · · · · · · ·			
Purpose: Perforate		Тор	Bottom		Туре	of Cem	ent	# S	acks Used	Type ar	d Percent Ad	ditives
Protect Casi												
Plug Off Zon												
PERFORATION RECORD – Bridge Plugs Set Shots per Foot Specify Footage of Each Interval Perforate								Acid. Fracture, Shot, Cement, Squeeze Record (Amount and Kind of Material Used) Depth				
										RE	CEIVED	
											R 2 8 20	
										WIPA	N Z U ZU	···
TUBING RECORD		Cina		0-1-04) l A	Lines Due			KCC	: WICHI	TA
TOBING RECORD		Size		Set At	r	acker A	t Liner Run	' <u>-</u>] Yes	□ No		
Date of First, Resum	ed Production	n, SWD o	or Enhr.	Produc	ing Method		☐ Flowing		Pumping	☐ Gas Lift	☐ Othe	r (Explain)
Estimated Production Per 24 Hours	n	Oil	Bbls.	Gas	M	cf	Water B	bls.	Ga	as-Oil Ratio	G	Gravity
Disposition of Gas	L					METH	OD OF COMPLE	ETION			Pr	oduction Interval
☐ Vented ☐ If vented, submit	Sold	☐ Use	ed on Lea	ise	□Оре	en Hole	☐ Perf.		Dually Comp	o. 🔲 Comming	ıled	
					☐ Oth	er <i>(Spec</i>	cify)					

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

NVOICE

Invoice Number: 105784

Invoice Date: 12/11/06

To:

Sold Samuel Gary, Jr. & Assoc. 1670 Broadway,

STE 3300 Denver, CO

80202

RECEIVED

MAR 2 8 2007

KCC WICHITA Gary

P.O. Number..: Morgan 1-36

P.O. Date...: 12/11/06

Due Date.: 01/10/07 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	225.00	SKS	10.6500	2396.25	т
Gel	4.00	SKS	16.6500	66.60	T
Chloride	7.00	SKS	46.6000	326.20	T
Handling	236.00	SKS	1.9000	448.40	E
Mileage	26.00	MILE	21.2400	552.24	E
236 sks @>09 pe	r sk per mi				
Surface	1.00	JOB	815.0000	815.00	E
Extra Footage	15.00	PER	0.6500	9.75	\mathbf{E}
Mileage pmp trk	26.00	MILE	6.0000	156.00	E
Head Rental	1.00	PER	100.0000	100.00	E
Wooden Plug	1.00	EACH	60.0000	60.00	${f T}$

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of 493.04 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments:

Total...:

4930.44 179.49 0.00

5109.93

ADRLG COMP WO LOE

AFE# 1-36

ACCT # 135/60

APPROVED BY

DFC 15 2006

SAMUEL GARY JR. & ASSOCIATES, INC.

ALLIED CEMENTING CO., INC.

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Great Bendla

		START JOB FINISH
LEASE MOTIGAN WELL# 1-36 LOCATION Ray	ÇQI	INTY STATE
OLD OR NEW (Circle one) IE, 1/4 N	Eliato	
CONTRACTOR SummiT #/		KCC
TYPE OF JOB SUFFACE	OWNER Sam Gary	MAR 2 7 2007
HOLE SIZE 1214 T.D. 315	CEMENT	CONFIDENTIAL
CASING SIZE 85/8 DEPTH 3/5	AMOUNT ORDERED / 755	X Common
TUBING SIZE DEPTH		oPOUTW/
DRILL PIPE 41/2 DEPTH 315	Common ?	3% UC
TOOL DEPTH PRES. MAX 100 PSZ MINIMUM —	505k	
PRES. MAX 100 PSZ MINIMUM — MEAS. LINE SHOE JOINT 1.5 FT		10.65 2396.29
CEMENT LEFT IN CSG. 15 FT	POZMIX @ @ _ @ _ @ _ @ _ @ _ @ _ @ _ @ _ @ _	16.6S 66.60
PERFS.		16.65 66.60 46.60 326,20
DISPLACEMENT Fresh WATER 1988	ASC@	1460 JC660
EQUIPMENT	@	
	@	
PUMP TRUCK CEMENTER Dewid W.	PECENTE -	
# 120 HELPER /ceuin D. JDD.	RECEIVE	
BULK TRUCK		
#341 DRIVER STEVE T.	@	
BULK TRUCK	KCC WICHIJA	
# DRIVER	HANDLING 236 ALL @	1.90 44840
	MILEAGE 236 AU 09	26 552.84
REMARKS:		TOTAL 3789.69
	•	*
PiPe on Bottom Break c. M. Pomf	SERVICE	46
175 St Common 3% CC 2% Gc/		
Shut Down Release Plug DisPle W/19DB/S, Water Shut in CEMENT	CEDEPTH OF JOB 3/5	815,00
did NOT CAR TOPOUT 4/50	PUMPTRUCK CHARGE	
St At3%CC Wash up Rig	EXTRA FOOTAGE /S @ _	<u>45 9.75</u>
Down,	MILEAGE Z6 @ MANIFOLD HEAD RENT@ /	00 - 156.00
,	(a)	
CHARGE TO: Sam Gary		
STREET		TOTAL 1080.7S
CITYSTATEZIP	DI IIC & ELOAT FOU	TTON ATTON
	PLUG & FLOAT EQU	IPMENI
	1-1.10- 100 Pl	
	1-wooden Plug @_	60.00
To Allied Cementing Co., Inc.		
You are hereby requested to rent cementing equipment		
and furnish cementer and helper to assist owner or	@	
contractor to do work as is listed. The above work was		
done to satisfaction and supervision of owner agent or		TOTAL <u>60.00</u>
contractor. I have read & understand the "TERMS AND		
CONDITIONS" listed on the reverse side.	TAX	
	TOTAL CHARGE	
	DISCOUNT	
	DISCOUNT —	IL LAID IN 30 DAIS
SIGNATURE A CA	V TALAY	
/ LAN LY	PRINTED NA	ME
	YKINTED NA	IVIE



REMIT TO

Consolidated Oil Well Services, Inc. Dept. 1228 Denver, CO 80256

MAIN OFFICE P.O. Box 884 Chanute, KS 66720

620/431-9210 • 1-800/467-8676 FAX 620/431-0012

Page

INVOICE

Invoice Date:

Terms:

Invoice #

210894

GARY SAMUEL & ASSOCIATES, INC 1670 BROADWY, SUITE 3300

12/11/2006

DENVER CO 80202 ()

MORGAN #1-36

16619 12-09-06

Part Number 1131 1118A		Description 60/40 POZ MIX S-5 GEL/ BENTONITE (50#)	Qty 165.00 570.00		Total 1542.75 79.80
442 446 446 446	Description TON MILEAGE DE P & A NEW WELL EQUIPMENT MILE CASING FOOTACE	AGE (ONE WAY)	Hours 992.60 1.00 140.00 1800.00	Unit Price 1.05 800.00 3.15 .17	Total 1042.23 800.00 441.00 306.00

RECEIVED

DEC 15 2006

SAMUEL GARY JR. & ASSOCIATES, INC.

M DRLG □ COMP □ W/O □ LOE AFE# /-36 ACCT# /35/60

APPROVED BY

RECEIVED MAR 2 8 2007

KCC WICHITA

Parts: Labor: 1622.55 Freight: .00 Misc:

.00 Tax:

102.22 AR

4314.00

.00 Supplies:

.00 Total: .00 Change:

4314.00

.00

Date_

Signed_

BARTLESVILLE, OK P.O. Box 1453 74005 918/338-0808

EUREKA, KS 820 E. 7th 67045 OTTAWA, KS

GILLETTE, WY 300 Enterprise Avenue 82716 307/686-4914

THAYER, KS 8655 Dorn Road 66776 620/839-5269

AUTHORIZATION Called by Dan

CONSOLIDATED OIL WELL SERVICES, INC. P.O. BOX 884, CHANUTE, KS 66720 620-431-9210 OR 800-467-8676

16619 TICKET NUMBER LOCATION <u>EURERA</u> FOREMAN <u>RILK LEOFORO</u>

TREATMENT REPORT & FIFI D TICKET

5406 140 MILEAGE 3.15 441.00		•			CEMEN	IT		•	
CUSTOMER Samule, Gary + Associates Inc. MAILING ADDRESS CITY OF DETERMINENT SUITE 3200 COASING DEPTH DRILL PIPE 4" TUBING MATER galvis, 7.º CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety MORTHING. (Als up to Orlunus Rig. Plussing actions 95 Sallous: 15 plus 9 3300′ - 35 ses 10 plus 9 280′ - 35 ses 10 plus 9 280′ - 35 ses WAR 27 2007 ACCOUNT CODE SYORN 1 PUMP CHARGE 300.00 800.00 SYOR 140 MILEAGE 31.15 441.00 SYOL 180′ Casing Footage (Balow 1500′) .17′ 306.00 SYOL 180′ Casing Footage (Balow 1500′) .17′ 306.00 SYOTA 7.09 Ton Ton-Milage Bulk Track 1.05 1042.23 RECEIVED MAR 27.2007	DATE	CUSTOMER#	WEI	L NAME & NUME	BER	SECTION TOWNSHIP		RANGE	COUNTY
Samue Samue Sale	12-9-06	3015	MORGA	o #1-3	6	36	20	100	R166
1670 Standing Suite 3300 1492 17 17 17 18 18 18 18 18									
1670 Standing Suite 3300 1492 17 17 17 18 18 18 18 18	Sam	EVEL GARY	+ Assacia	tes Inc.	Summit		 	TRUCK#	DRIVER
Deauet Co 80202 JOB TYPE P. T.A. HOLE SIZE HOLE DEPTH 3400' CASING SIZE & WEIGHT OTHER SLURRY WEIGHT SLURRY VOL. WATER galvsk 7. CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety meeting. Rig up to Original Right Plugging acdes 93 fallows: 1 plug @ 3300' - 35 ses 1 plug @ 200' - 35 ses 1 plug @ 395' - 35 ses WAR 27 2007 ACCOUNT CODE QUANTITY or UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL SYOEN / PUMP CHARGE \$00.00 800.00 SYOL 140 MILEAGE 3.15 441.00 SYOL 150 MILEAGE 4.1500') .17' 306.00 1131 165 Sek 60/40 for mix Cemen 4 9.35 1542.75 SYOTA 7.09 Ton Ton-Mileage Rulk Track 1.05 1042.23 RECEIVED MAR 27 2007					Orls.	446	CISF		
Deauet Co 80202 JOB TYPE P. T.A. HOLE SIZE HOLE DEPTH 3400' CASING SIZE & WEIGHT OTHER SLURRY WEIGHT SLURRY VOL. WATER galvsk 7. CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety meeting. Rig up to Original Right Plugging acdes 93 fallows: 1 plug @ 3300' - 35 ses 1 plug @ 200' - 35 ses 1 plug @ 395' - 35 ses WAR 27 2007 ACCOUNT CODE QUANTITY or UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL SYOEN / PUMP CHARGE \$00.00 800.00 SYOL 140 MILEAGE 3.15 441.00 SYOL 150 MILEAGE 4.1500') .17' 306.00 1131 165 Sek 60/40 for mix Cemen 4 9.35 1542.75 SYOTA 7.09 Ton Ton-Mileage Rulk Track 1.05 1042.23 RECEIVED MAR 27 2007	1670	3 Broadway	Suite	3300	Ì	442	J.P.		
JOB TYPE P. T.A. HOLE SIZE HOLE DEPTH 34M0' CASING SIZE & WEIGHT CASING DEPTH DRILL PIPE Y" TUBING OTHER SLURRY WEIGHT SLURRY VOL WATER GAVIS, 7.° CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety moeting. Rig up to Occurron Rig. Plugging acdes 93 fallows: 75 plug @ 3380' - 35 ses 9 plug @ 280' - 35 ses 9 plug @ 380' - 35 ses 10 plug @ 385' - 35 ses 11 plug @ 385' - 35 ses 12 plug @ 385' - 35 ses 13 plug @ 385' - 35 ses 14 plug @ 385' - 35 ses 15 plug @ 385' - 35 ses 16 plug @ 385' - 35 ses 17 plug @ 385' - 35 ses 18 plug	CITY		STATE	ZIP CODE					
JOB TYPE P. T.A. HOLE SIZE HOLE DEPTH 34M0' CASING SIZE & WEIGHT CASING DEPTH DRILL PIPE Y" TUBING OTHER SLURRY WEIGHT SLURRY VOL WATER GAVIS, 7.° CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety moeting. Rig up to Occurron Rig. Plugging acdes 93 fallows: 75 plug @ 3380' - 35 ses 9 plug @ 280' - 35 ses 9 plug @ 380' - 35 ses 10 plug @ 385' - 35 ses 11 plug @ 385' - 35 ses 12 plug @ 385' - 35 ses 13 plug @ 385' - 35 ses 14 plug @ 385' - 35 ses 15 plug @ 385' - 35 ses 16 plug @ 385' - 35 ses 17 plug @ 385' - 35 ses 18 plug	Denu	e f	Co	80202					
CASING DEPTH DRILL PIPE 4" TUBING OTHER SLURRY VOL WATER GAVER 7. CEMENT LEFT IN CASING DISPLACEMENT SLURRY VOL WATER GAVER 7. CEMENT LEFT IN CASING DISPLACEMENT DISPLACEMENT PSI NIX PSI RATE REMARKS: Safety meeting. Ris up to gruinou Rig. Plussing actes 93 Collous: 1 plug @ 3300' - 35 345 3 plug @ 280' - 35 345 3 plug @ 395' - 35 345 CONFIDENTIAL ACCOUNT CODE QUANTITY OF UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL SYOB N / PUMP CHARGE \$00.00 \$00.00 SYOL 140 MILEAGE 3.15 441.00 SYOL 1800' Casing Footage (Salas 1500') .17' 306.00 1131 165 SKS 60/90 for mix Cement 9.35 1542.75 SYOTA 7.09 Ton Ton Mileage Bulk Tack 1.05 1042.25 RECEIVED MAR 2 2007	IOR TYPE D	TA	HOLE SIZE	•	HOLE DEPTH	3400'	CASING SIZE & V	VEIGHT	<u> </u>
SLURRY WEIGHT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety Cocting. Rig up to Occurre Rig. Plugging acdes as follows: The plug @ 3380' - 35 ses 100 plug @ 1200' - 35 ses 100 plug @ 395' - 35 ses 100 plug @ 60' - 25 ses 101 plug Charge 100 plug Cha	CASING DEPTH		DRILL PIPE	4"	TUBING				
DISPLACEMENT DISPLACEMENT PSI MIX PSI RATE REMARKS: Safety meeting. Rig up to Occurron Rig. Plugging acdes as follows: 1									
REMARKS: Safety moeting Rig up to prusing Rig. Plugging add 2 22 fallows: The plug 3300' - 35 585 1000 34					_			UASII10	
1									4.1
1 1 1 1 1 1 1 1 1 1		arery me	enng.	1519 UP TE	DEILLIN	su Kig. Fil	issing ara	os 93 40	11043;
1 1 1 1 1 1 1 1 1 1			13	01:50	38m' -	. 36			
ACCOUNT QUANTITY OF UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL			20	1		· —		0.00	
ACCOUNT QUANTITY OF UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL SYOFN / PUMP CHARGE 800.00 800.00 SYOL 140 MILEAGE 3.15 441.00 SYOL 1800' Casing Footage (Ralas 1500') .17' 306.00 1131 1655kx 60/40 for mix Cemen 4 9.35 1542.75 11184 570" Gel 4714" 79.80 SYOTA 7.09 Ton Ton Mileage Bulk Tack 1.05 1042.23 RECEIVED			2 04	144 6					
ACCOUNT QUANTITY OF UNITS DESCRIPTION OF SERVICES OF PRODUCT UNIT PRICE TOTAL SYOFN / PUMP CHARGE 800.00 800.00 SYOL 140 MILEAGE 3.15 441.00 5402 1800' Casing Footage (Ralas 1500') .17' 306.00 1131 1655kx 60140 for mix Cement 9.35 1542.75 11184 570" Gel 4714" 79.80 SYOTA 7.09 Ton Mileage Bulk Tirek 1.05 1042.23 RECEIVED MAR 2 1.2007			212	114 6				0.000	7 2007
ACCOUNT CODE QUANTITY or UNITS DESCRIPTION of SERVICES or PRODUCT UNIT PRICE TOTAL SYOS N / PUMP CHARGE 800.00 800.00 SYO2 1800' MILEAGE 3.15 441.00 SYO2 1800' Casing Footage (Ralax 1500') .17' 306.00 1131 165.5ks 60/40 for-mix Cemen 4 9.35 1542.75 1118A 570" Gel 4714" 79.80 SYO7 A 7.09 Ton Ton Mileage Bulk Trick 1.05 1042.23			- The state of the	prug C				- MAR Z	1 2001
CODE QUANTITY or UNITS DESCRIPTION of SERVICES or PRODUCT UNIT PRICE TOTAL				plug a	60 ~	23 523		- CONFID	ENTIAL
CODE QUANTITY or UNITS DESCRIPTION of SERVICES or PRODUCT UNIT PRICE TOTAL									
CODE QUANTITY or UNITS DESCRIPTION of SERVICES or PRODUCT UNIT PRICE TOTAL			·						
CODE QUANTITY or UNITS DESCRIPTION of SERVICES or PRODUCT UNIT PRICE TOTAL	ACCOUNT			T					T
SYOL 140 MILEAGE 3.15 441.00		QUANTITY	or UNITS	DES	SCRIPTION of	SERVICES or PRO	DUCT	UNIT PRICE	TOTAL
S406	5405N			PUMP CHARGE				800.00	80000
1800' Casing Footage (Belax 1500') .17' 306.00 1131	5406	140		MILEAGE					
1131	5402	1800'		Casina	Frontone 1	(Rale: 15001)			
1118A 570# Gel 476 .14# 79.80 S407A 7.09 700 Ton-Mileage Bulk Trick 1.05 1042.23 RECEIVED MAR 2 2007				3	COLUMN TO THE	Ciella .d-			300.00
1118A 570# Gel 476 .14# 79.80 S407A 7.09 700 Ton-Mileage Bulk Trick 1.05 1042.23 RECEIVED MAR 2 2007	1131	165.5	sh:	60140 A	nz-mlx	Canaca		0.25	154275
S407A 7.09 Ton Ton-Mileage Bulk Trick 1.05 1042.23 RECEIVED MAR 2 2007				1 -		CENTI			
RECEIVED MAR 2 2007		<u> </u>		1001 47				.74	19.80
RECEIVED MAR 2 2007	CHOTA	7 00	9	75. 00:	1 - 0				
MAR 2 % 2007	3 10 12	7,	10 _h	ווין - אטן	icage K	ulk Trick		1.05	1042.23
MAR 2 % 2007									
MAR 2 % 2007									
MAR 2 % 2007						DECE	IVED		
						NECE	IVED		
						MAR 2	≥ 2007		
KCC WICHITA									
						KCC W	ICHITA		

810894

TITLE Summit Orla

Thank You

SALES TAX ESTIMATED TOTAL

4211.78

Sub Total

DATE

6.390

Samuel Gary Jr. & Associates, Inc.

1670 Broadway, Suite 3300, Denver, CO 80202 (303) 831-4673

March 27, 2007

Mr. Dave Williams Kansas Corporation Commission 130 South Market, Room – 2078 Wichita, KS 67202 KCC

WAR 27 2007

CONFIDENTIAL

RECEIVED
MAR 2 8 2007

KCC WICHITA

Re: Morgan 1-36

Rice County, Kansas API# 15-159-22519-0000

Dear Dave,

Attached please find the ACO-1, Well History Description of Well and Lease, the CP-4, Well Plugging Record, along with Geologist Report, Electric Logs, and all cementing tickets for the subject Well.

We hereby request that this ACO-1, and all data included, along with the drill cuttings sent to the Kansas Geological Survey, be held **CONFIDENTIAL FOR 2 YEARS.**

If there are any questions, or if you need any additional information, please contact me at Samuel Gary Jr. & Associates, Inc. at the telephone number shown on the letterhead.

Sincerely,

SAMUEL GARY JR. & ASSOCIATES, INC.

Thomas G. Fertal Sr. Geologist

Thomas It Fontal

Enclosures

(